1044 Auspuff mit l.eitu-ng
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Bild-Nr. azd‘*"r’pe’“”m"‘:s FuBnote Teilnummer Anzahl |Stickgewicht
V(338 w464l TeB/29%h ) DIS| 11107~ bh - OB, 10 1 1,980 '
Thol /1881 | D15,1 1110 - 4k - 04, 10 1 1,980 -
7425 /1 D15 1136 = bl « 06, 10 i 1,980 .
A T26/1 (237 #6724 | DI5! 1136 = Lk ~ 06—0— 1 1,980
2 247 338? AM 8 x 20 DIN 939 vzk | 2 0,010 &
3 179231 éfféé 236 245 D 2 0,010
k 8.4 DIV 125 3 0,002
5 23% 768G 0155 = 08 =~ 20. 99 1 0,010 .
6 7 £753 7423 /2914 | D 15 2340 A 7 1 0;006
Tholi /1881 | D15.t 2380 A 7 ' 1 0,006
| Thas/i D 15 1136 « bl - 05, 05 i 0,006
Thatf1 D15, 1 1136 = 4k = 05, 05 | 1 0,006
7 727 6750 Th23 /9L | D15 320k B 7 1 0,060
. Thak /1881 | D15.1]  320h B 7 1 0,060
Thes5 /1 : D15 1136 = bi = 05, Oh 1 0,060
The6 /1 229 Qo DI5. 1 1136 » bl - 05, Ob 1 0,060
8 The3 /291 | D15 | M 8 x 20 DIN 933 vzk 1 0,015 '
Tholi /1881 | D15.1) M 8 x 20 DIN 933 vzk i 0,015 .
7425 /1 D15 | M8 x 15 DIN 933 vzk 2 0,012
qupbf1t - Di5.1 M 8 x 15 DIN 933 vek 2 0,012 .
G 8 H 2203 vzk b 0,002
11 7 M 8 DIV 934 vzk b 0,007 ,
12 238 24 &5 Thad/2onh | D 15 1110 = b = 03. 10 1 0,610 .
C T2l /1881 | ;5.1 1116 = bk - 03, 10 o1 0,610
ThoS5 /1 I D15| 1170 = bk « Th. 10 1 0,610 &
Th26/1 338 746G | D15.* 1110 = bh = 14, 10 i 0,610
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